135 DEG 150A-SP HI-SPEED SPLIT POINT
FRACTIONAL JOBBER DRILL BIT - PREMIUM

=SSN

Part number Description Pack
WUBO01 1/64 12
WUB02 1/32 12
WUB03 3/64 12
WUB04 1/16 12
WUBO05 5/64 12
WUBO06 3/32 12
WUBO07 7/64 12| 135 DEG 150A-SP HI-SPEED SPLIT POINT
WUBO08 1/8 12| FRACTIONAL JOBBER DRILL BIT - PREMIUM
WUB09 9/64 12| (cont.)
WUB10 5/32 12 Part number Description Pack
WUB11 11/64 12| |WUB12 3/16 12
135 DEG 150A-SP HI-SPEED SPLIT POINT WUB13 13/64 12
FRACTIONAL JOBBER DRILL BIT - PREMIUM WUB14 7/32 12
(cont.) WUB15 15/64 12
Part number Description Pack \WUB16 1/4 12
WUB24 3/8 6] |WUB17 17/64 12
WUB25 25/64 6] |wWUB18 9/32 12
WUB26 13/32 6] |WUB19 19/64 6
WUB27 27/64 6] |WUB20 5/16 6
WUB28 7/16 6] |wuB21 21/64 6
WUB29 29/64 6] |wuB22 11/32 6
WUB30 15/32 6] |wuB23 23/64 6
WUB31 31/64 6| 118 DEG HI-SPEED 2Q JOBBER LENGTH
WUB32 1/2 6] DRILLBITS m

(cont.)

Part number Description Pack
118 DEG HI-SPEED 2Q JOBBER LENGTH PEP32 12 6
PRILLBITS C NSNS
Part number Description Pack HI-SPEED STANDARD 135 DEG SPLIT POINT
PEP04 1/16 12| JOBBER DRILL BIT m
PEP05 5/64 12
PEP06 3/32 12 Part number Description Pack
PEP07 7/64 12| |WVB03 3/64 12
PEP08 1/8 12| |wWVvB04 1/16 12
PEP09 9/64 12| |WVBO05 5/64 12
PEP10 5/32 12| |WVB06 3/32 12
PEP11 11/64 12| |WVBO07 7/64 12
PEP12 3/16 12| |WVB08 1/8 12
PEP13 13/64 12| |WVB09 9/64 12
PEP14 7/32 12| |wWVvB10 5/32 12
PEP15 15/64 12| |WVB11 11/64 12
PEP16 1/4 12| |wWvB12 3/16 12
PEP17 17/64 12| |wWvB13 13/64 12




PEP18 9/32 12| |WVB14 7/32 12
PEP19 19/64 6| [|wWVB15 15/64 12
PEP20 5/16 6] |WVB16 1/4 12
PEP21 21/64 6] |wWvB17 17/64 12
PEP22 11/32 6| [|WVB18 9/32 12
PEP23 23/64 6| [wWvB19 19/64 6
PEP24 3/8 6] |wWvB20 5/16 6
PEP25 25/64 6] |wvB21 21/64 6
PEP26 13/32 6| [wWVvB22 11/32 6
PEP27 27/64 6] |wvB23 23/64 6
PEP28 7/16 6] |wvB24 3/8 6
PEP29 29/64 6] |WVB25 25/64 6
PEP30 15/32 6] |WVB26 13/32 6
PEP31 31/64 6] |wvB27 27/64 6
STANDARD 135 DEG NUMBER SPLIT POINT \WVB28 7/16 6
JOBBER DRILL BIT m WVB29 29/64 6
WVB30 15/32 6
Part number Description Pack \WVB31 31/64 6
AST60N #60 12| |WVB32 1/2 6
AST59N #59 12
AST58N #58 12
AST57N #57 12
AST56N #56 12
AST55N #55 12
AST54N #54 12
AST53N #53 12| STANDARD 135 DEG NUMBER SPLIT POINT
AST52N #52 12| JOBBER DRILL BIT ST
AST51N #51 12| (cont.)
AST50N #50 12 Part number Description Pack
AST49N #49 12| |AST17N #17 12
AST48N #48 12| |AST16N #16 12
AST47N #AT 12| |JAST15N #15 12
AST46N #46 12| |JAST14N #14 12
AST45N #45 12| |AST13N #13 12
AST44N #44 12| |AST12N #12 12
AST43N #43 12| JAST11N #11 12
AST42N #42 12| JAST10N #10 12
AST41N #41 12| JASTO9N #9 12
AST40N #40 12| |ASTOSN #8 12
AST39N #39 12| JASTO7N #7 12
AST38N #38 12| |ASTO6N #6 12
AST37N #37 12| JASTO5N #5 12
AST36N #36 12| |AST04N Ha 12
AST35N #35 12| |ASTO3N #3 12
AST34N #34 12| |ASTO02N #2 12
AST33N #33 12| |JASTO1N #1 12
AST32N #32 12
AST31N #31 12




AST30N #30 12| STANDARD 135 DEG JOBBER LEN LETTER SPLIT POINT
AST29N #29 12| JOBBER DRILL BIT [ aaSSSSS
AST28N #28 12
AST27N #27 12| [|Part number Description Pack
AST26N #26 12| |ASVA A 12
AST25N #25 12| |ASVB B 12
AST24N #24 12| |ASVC C 12
AST23N #23 12| |ASVD D 12
AST22N #22 12| |ASVE E 12
AST21N #21 12| |ASVF F 12
AST20N #20 12| JASVG G 12
AST19N #19 12| |ASVH H 12
AST18N #18 12| |ASVI [ 12
STANDARD 135 DEG JOBBER LEN LETTER SPLIT POINT ASVJ N 12
JOBBER DRILL BIT T SSSSSS ASVK K 12
(cont.) ASVL L 12
Part number Description Pack ASVM M 6
ASVU 9] 6] JASVN N 6
ASVV V 6| |ASVO O 6
ASVW i 6] |ASVP P 6
ASVX X 6] JASvVQ Q 6
ASVY Y 6] |ASVR R 6
ASVZ Z 6] |ASVS S 6
ASVT T 6
PREMIUM 135 DEG 150A-SP SPLIT POINT NUMBER
PREMIUM FLAT SHANK 135 DEG SPLIT POINT JOBBER DRILL BIT
MECH LEN DRILL BIT 175AG (cont.) N
m Part number Description Pack
Part number Description Pack XKB77N 77 12
BHJSPM29 1/16 - 1/2 BY 64THS DRILL SE 1] IXKB76N 76 12
BHJ12 3/16 12| [XKB75N 75 12
BHJ13 13/64 12| [XKB74N 74 12
BHJ14 7/32 12| [XKB73N 73 12
BHJ15 15/64 12| [XKB72N 72 12
BHJ16 1/4 12| [XKB71N 71 12
BHJ17 17/64 12| [XKB70N 70 12
BHJ18 9/32 12| |XKB69N 69 12
BHJ19 19/64 6] |XKB6SN 68 12
BHJ20 5/16 6] |XKB67N 67, 12
BHJ21 21/64 6] |XKB66N 66 12
BHJ22 11/32 6] |XKB65N 65 12
BHJ23 23/64 6] |XKB64N 64 12
BHJ24 3/8 6] |XKB63N 63 12
BHJ25 25/64 6] |XKB62N 62 12
BHJ26 13/32 6] |XKB61N 61 12
BHJ27 27/64 6] |XKB6ON 60 12
BHJ28 7/16 6] |XKB59N 59 12
BHJ29 29/64 6] |XKB58N 58 12




BHJ30 15/32 XKB57N 57 12
BHJ31 31/64 XKB56N 56 12
BHJ32 1/2 XKB55N 55 12
XKB54N 54 12
XKB53N 53 12
PREMIUM 135 DEG 150A-SP SPLIT POINT NUMBER XKB52N 52 12
JOBBER DRILL BIT XKB51N 51 12
XKB50N 50 12
Part number Description Pack XKB49N 49 12
XKB8ON 80 12| [XKB48N 48 12
XKB79N 79 12| |XKB47N 47 12
XKB78N 78 12| [XKB46N 46 12
PREMIUM 135 DEG 150A-SP SPLIT POINT NUMBER XKB45N 45 12
JOBBER DRILL BIT XKB44N 44 12
(cont.) XKB43N 43 12
Part number Description Pack XKB42N 42 12
XKB34N 34 12| |XKB41N 41 12
XKB33N 33 12| [XKB40N 40 12
XKB32N 32 12| |XKB39N 39 12
XKB31N 31 12| [XKB38N 38 12
XKB30N 30 12| |XKB37N 37, 12
XKB29N 29 12| [XKB36N 36 12
XKB28N 28 12| |XKB35N 35 12
XKB27N 27 12| PREMIUM 135 DEG 150A-SP SPLIT POINT
XKB26N 26 12| JOBBERLS LETTER DRILL BIT
XKB25N 25 12| (cont.) I:mg
XKB24N 24 12 Part number Description Pack
XKB23N 23 12| |XJB-D D 1
XKB22N 22 12| [XJB-E E 1
XKB21N 21 12| [XJB-F F 1
XKB20N 20 12| [XJB-G G 1
XKB19N 19 12| |XJB-H H 1
XKB18N 18 12| IXJB-I | 1
XKB17N 17 12| [XJB-J J 1
XKB16N 16 12| [XJB-K K 1
XKB15N 15 12| |XJIB-L L 1
XKB14N 14 12| [XJB-M M 1
XKB13N 13 12| |XJB-N N 1
XKB12N 12 12| [XJB-O O 1
XKB11N 11 12| [XJB-P P 1
XKB10N 10 12| IXJB-Q Q 1
XKBIN 9 12| IXJB-R R 1
XKBSN 8 12| [|XJB-S S 1
XKB7N 7 12| |XJB-T T 1
XKB6N 6 12| [XJB-U U 1
XKB5N 5 12| IXJB-V vV 1
XKB4N 4 12| [XJB-W W 1
XKB3N 3 12| [XJB-X X 1




XKB2N 2 12| [XJIB-Y Y 1
XKB1N 1 12| [XJB-Z z 1
PREMIUM 135 DEG 150A-SP SPLIT POINT PREMIUM 550 COBALT HEAVY DUTY
JOBBERLS LETTER DRILL BIT e~y JOBBER DRILL BIT
Part number Description Pack Part number Description Pack
XJB-A A 1] [XGBO01 1/64 1
XJB-B B 1] [XGB02 1/32 1
XJB-C C 1| |XGB03 3/64 1
PREMIUM 550 COBALT HEAVY DUTY XGB04 1/16 1
JOBBER DRILL BIT XGB05 5/64 1
(cont.) XGB06 3/32 1
Part number Description Pack IXGB07 7/64 1
XGB15 15/64 1 [XGB08 1/8 1
XGB16 1/4 1] [XGB09 9/64 1
XGB17 17/64 1] [XGB10 5/32 1
XGB18 9/32 1 |XGB11 11/64 1
XGB19 19/64 1 [XGB12 3/16 1
XGB20 5/16 1] [XGB13 13/64 1
XGB21 21/64 1 [XGB14 7/32 1
XGB22 11/32 1 GLOBAL COBALT
XGB23 23/64 1 JOBBER DRILL BIT
XGB24 3/8 1  (cont.)
XGB25 25/64 1 Part number Description Pack
XGB26 13/32 1| |ATD23 23/64 6
XGB27 27/64 1 |ATD24 3/8 6
XGB28 7/16 1| |ATD25 25/64 6
XGB29 29/64 1| |ATD26 13/32 6
XGB30 15/32 1| |ATD27 27/64 6
XGB31 31/64 1| |ATD28 7/16 6
XGB32 1/2 1| |ATD29 29/64 6
[ATD30 15/32 6
ATD31 31/64 6
GLOBAL COBALT ATD32 1/2 6
JOBBER DRILL BIT
Part number Description Pack 550 COBALT NUMBER 135 DEG SPLIT POINT
ATD04 1/16 12| JOBBER DRILL BIT im
ATDO05 5/64 12
ATDO06 3/32 12| |Part number Description Pack
ATD07 7/64 12| |ATEO1 1 12
ATD08 1/8 12| |ATE02 2 12
ATD09 9/64 12| |ATEO03 3 12
ATD10 5/32 12| |ATE04 4 12
ATD11 11/64 12| |ATEO05 5 12
ATD12 3/16 12| |ATE06 6 12




ATD13 13/64 12| |ATEO7 7 12
ATD14 7/32 12| |JATEO08 8 12
ATD15 15/64 12| |ATE09 9 12
ATD16 1/4 12| |ATE10 10 12
ATD17 17/64 12| JATE11 11 12
ATD18 9/32 12| |JATE12 12 12
ATD19 19/64 12| |JATE13 13 12
ATD20 5/16 6] |ATE14 14 12
ATD21 21/64 6| |ATE15 15 12
ATD22 11/32 6| |ATE16 16 12
550 COBALT NUMBER 135 DEG SPLIT POINT ATE17 17 12
JOBBER DRILL BIT ma ATE18 18 12
(cont.) IATE19 19 12
Part number Description Pack ATE20 20 12
ATE28 28 12| |JATE21 21 12
ATE29 29 12| |ATE22 22 12
ATE30 30 12| |ATE23 23 12
ATE31 31 12| |ATE24 24 12
ATE32 32 12| |JATE25 25 12
ATE33 33 12| |ATE26 26 12
ATE34 34 12| |ATE27 27 12
ATE35 35 12| 550 COBALT LETTER 135 DEG SPLIT POINT

ATE36 36 12| JOBBER DRILL BIT ﬁmm
ATE37 37 12| (cont.)

ATE38 38 12| |Part number Description Pack
ATE39 39 12| |ATFF F 12
ATE40 40 12| |ATFG G 12
ATE41 41 12| |ATFH H 12
ATE42 42 12| |ATFI [ 12
ATE43 43 12| |ATFJ J 12
ATE44 44 12| |ATFK K 12
ATE45 45 12| |JATFL L 12
ATE46 46 12| JATFM M 12
ATE47 47 12| |ATFN N 6
ATE48 48 12| |ATFO O 6
ATE49 49 12| |JATFP P 6
ATE50 50 12| |ATFQ Q 6
ATE51 51 12| JATFR R 6
ATE52 52 12| |ATFS S 6
ATE53 53 12| JATFT T 6
ATE54 54 12| |ATFU U 6
ATE55 55 12| JATFV Vv 6
ATE56 56 12| |ATFW W 6
ATES7 57 12| |ATFX X 6
ATE58 58 12| |ATFY Y 6
ATE59 59 12| JATFZ 4 6




550 COBALT LETTER 135 DEG SPLIT POINT

JOBBER DRILL BIT

135 DEG HI-SPEED SHORT HEAVY DUTY SPLIT POINT

DRILL BIT - PREMIUM

B osSssy T
Part number Description Pack Part number Description Pack
ATFA A 12| [XABO03 3/64 12
ATFB B 12| |XAB04 1/16 12
ATFC C 12| |XABO05 5/64 12
ATFD D 12| [XAB06 3/32 12
ATFE E 12| [XABO7 7/64 12
135 DEG HI-SPEED SHORT HEAVY DUTY SPLIT POINT XAB08 1/8 12
DRILL BIT - PREMIUM — XAB09 9/64 12
(cont.) E ] :m XAB10 5/32 12
Part number Description Pack XAB11 11/64 12
XAB19 19/64 6] [|XAB12 3/16 12
XAB20 5/16 6| [XAB13 13/64 12
XAB21 21/64 6] |XAB14 7/32 12
XAB22 11/32 6] |XAB15 15/64 12
XAB23 23/64 6] |XAB16 1/4 12
XAB24 3/8 6| [XAB17 17/64 12
XAB25 25/64 1] [|XAB18 9/32 12
XAB26 13/32 1| 135 DEG HI-SPEED SHORT NUMBER HEAVY DUTY
XAB27 27/64 1 DRILL BIT —
XAB28 7/16 1] (cont.) E ] :m
XAB29 29/64 1 Part number Description Pack
XAB30 15/32 1] [XLB24N 24 12
XAB31 31/64 1] |XLB25N 25 12
XAB32 1/2 1] [XLB26N 26 12
XLB27N 27 12
XLB28N 28 12
135 DEG HI-SPEED SHORT NUMBER HEAVY DUTY XLB29N 29 12
DRILL BIT . XLB30ON 30 12
E ] :m XLB31N 31 12
Part number Description Pack XLB32N 32 12
XLB1N 1 12| |XLB33N 33 12
XLB2N 2 12| |XLB34N 34 12
XLB3N 3 12| XLB35N 35 12
XLB4N 4 12| |XLB36N 36 12
XLB5N 5 12| XLB37N 37 12
XLB6N 6 12| [XLB38N 38 12
XLB7N 7 12| XLB39N 39 12
XLB8N 8 12| [XLB4ON 40 12
XLB9N 9 12| [XLB41N 41 12
XLB10N 10 12| [XLB42N 42 12
XLB11N 11 12| [XLB43N 43 12
XLB12N 12 12| [XLB44N 44 12
XLB13N 13 12| |XLB45N 45 12
XLB14N 14 12| [XLB46N 46 12
XLB15N 15 12| [XLB47N 47 12




XLB16N 16 12| |XLB48N 48 12,
XLB17N 17, 12] |XLB49N 49 12
XLB18N 18 12| |XLB50N 50| 12,
XLB19N 19 12| |XLB51N 51 12
XLB20N 20 12| |XLB52N 52 12
XLB21N 21 12] |XLB53N 53 12,
XLB22N 22, 12] |XLB54N 54 12
XLB23N 23| 12| |XLB55N 55| 12
135 DEG HI-SPEED STUBBY XLB56N 56 12
FRACTIONAL DRILL BIT - GLOBAL E . ] m XLB57N 57| 12
XLB58N 58 12
Part number Description Pack XLB59N 59 12
ASX04 1/16 12| |XLB60ON 60 12
ASX05 5/64 12
ASX06 3/32 12
ASX07 7/64 12
ASX08 1/8 12
ASX09 9/64 12
ASX10 5/32 12
ASX11 11/64 12 135 DEG HI-SPEED STUBBY
ASX12 3/16 12| LETTERDRILL BIT L ssSsSS
ASX13 13/64 12|  (cont.)
ASX14 7/32 12 Part number Description Pack
ASX15 15/64 12] |ASZI | 12
ASX16 1/4 12| |ASZJ J 12
ASX17 17/64 12| |ASZK K 12
ASX18 9/32 12| |ASZL L 12
ASX19 19/64 12 |JASZM M 12
ASX20 5/16 6] |ASZN N 12
ASX21 21/64 6] JASZO ©] 12
ASX22 11/32 6| |ASZP P 6
ASX23 23/64 6] JASZQ Q 6
ASX24 3/8 6] |ASZR R 6
ASX25 25/64 6] |AsSZS S 6
ASX26 13/32 6] |ASZT T 6
ASX27 27/64 6] JASZU U 6
ASX28 7/16 6| JASZV Vv 6
ASX29 29/64 6] JASZW W 6
ASX30 15/32 6] JASZX X 6
ASX31 31/64 6] JASZY Y 6
ASX32 1/2 6| |ASZZ Z 6
135 DEG HI-SPEED STUBBY PREMIUM #280UB 135 DEG S&D 1/2" SHANK
LETTER DRILL BIT [ === DRILLBIT — N
Part number Description Pack Part number Description Pack
ASZA A 12] |WWB33 33/64 1




ASZB B 12| |WWB34 17/32 1
ASZC C 12| |WWB35 35/64 1
ASZD D 12| |WWB36 9/16 1
ASZE E 12| |WwWB37 37/64 1
ASZF F 12| |WWB38 19/32 1
ASZG G 12| |WWB39 39/64 1
ASZH H 12| |WWB40 5/8 1
PREMIUM #280UB 135 DEG S&D 1/2" SHANK WWB41 41/64 1
DRILL BIT :'m WWB42 21/32 1
(cont.) WWB43 43/64 1
Part number Description Pack \WWB44 11/16 1
WWB52 13/16 1| |WWB45 45/64 1
WWB53 53/64 1| |WWB46 23/32 1
WWB54 27/32 1| |WWB47 47/64 1
WWB55 55/64 1| |WwB48 3/4 1
WWB56 7/8 1] |WWB49 49/64 1
WWB57 57/64 1| |WWBS50 25/32 1
WWB58 29/32 1] |WWB51X 51/64 1
WWB59 59/64 1] GENERAL PURPOSE 118 DEG S&D 1/2" SHANK
WWB60 15/16 11 DRILLBIT :‘m
WWB61 61/64 1] (cont.)
WWB62 31/32 1 Part number Description Pack
WWB63 63/64 1| |ASW47 47/64 1
WWB64 1 1| |ASW48 3/4 1
WWB65 11/64 1] |ASW49 49/64 1
WWBG66 11/32 1 |ASW50 25/32 1
WWB68 11/16 1 JASW51 51/64 1
WWB72 11/8 1| JASW52 13/16 1
WWB74 15/32 1| |ASW54 27/32 1
WWB76 13/16 1] |ASW56 7/8 1
WWB78 17/32 1| |ASW58 29/32 1
WWBS80 11/4 1| JASW59 59/64 1
WWB88 13/8 11 JASW60 15/16 1
WWB96 11/2 1] |ASW62 31/32 1
ASW63 63/64 1
[ASW64 1 1
GENERAL PURPOSE 118 DEG S&D 1/2" SHANK ASW68 11/16 1
DRILL BIT :‘m ASW72 11/8 1
[ASW76 13/16 1
Part number Description Pack ASW80 11/4 1
ASW33 33/64 1 |ASW88 13/8 1
ASW34 17/32 1| |ASW96 11/2 1
ASW35 35/64 1
ASW36 9/16 1
ASW37 37/64 11 1025N 135 DEG
ASW38 19/32 1 DRILLBIT
ASW39 39/64 1 CAISSSSSS
ASW40 5/8 1] |Part number Description |Pack |




ASW41 41/64 1] |WXB17X 17/64 1
ASW42 21/32 1| |WXB18 9/32 1
ASW43 43/64 1]  WXB19X 19/64 1
ASW44 11/16 1 [WXB20 5/16 1
ASW45 45/64 1] |WXB21X 21/64 1
ASW46 23/32 1| |WXB22 11/32 1
#278V 135 DEG 3/8 SHANK WXB23X 23/64 1
DRILL BIT {:m WXB24 3/8 1
WXB25 25/64 1
Part number Description Pack \WXB26 13/32 1
BKH25 25/64 1| |WXB27 27/64 1
BKH26 13/32 1 |WXB28 7/16 1
BKH27 27164 1 |WXB29 29/64 1
BKH28 7/16 1] [WXB30 15/32 1
BKH29 29/64 1] |WXB31 31/64 1
BKH30 15/32 1 |WXB32 1/2 1
BKH31 31/64 1
BKH32 1/2 1] PREMIUM #120 HI-SPEED TAPER LENGTH
BKH34 17/32 1 NUMBER DRILL BIT = - —————
BKH36 9/16 1| (cont) e
BKH40 5/8 1 Part number Description Pack
WYB29 29/64 1
\WYB30 15/32 1
PREMIUM #120 HI-SPEED TAPER LENGTH WYB31 31/64 1
NUMBER DRILL BIT — E———— WYB32 1/2 1
o |wysss 33/64 1
Part number Description Pack \WYB34 17/32 1
WYBO03 3/64 1| |WYB36 9/16 1
WYB04 1/16 1| |WYB40 5/8 1
WYB05 5/64 1| [|WYB44 11/16 1
WYB06 3/32 1| [WYB48 3/4 1
WYBO07 7/64 1
WYB08 1/8 1
WYB09 9/64 1] LONG BOY 12" & 18" STRAIGHT SHANK
WYB10 5/32 1| DRILL BIT
WYB11 11/64 1 S Tl Ty
WYB12 3/16 1 Part number Description Pack
WYB13 13/64 1| |ZTB0812 1/8 X 12 1
WYB14 7/32 1| |ZTB0912 9/64 X 12 1
WYB15 15/64 1| |ZTB1012 5/32 X 12 1
WYB16 1/4 1 |ZTB1112 11/64 X 12 1
WYB17 17/64 1| |2TB1212 3/16 X 12 1
WYB18 9/32 1| |ZTB1218 3/16 X 18 1
WYB19 19/64 1 |ZTB1312 13/64 X 12 1
WYB20 5/16 1| |Z2TB1412 7/32 X 12 1
WYB21 21/64 1| |ZTB1418 7/32 X 18 1
WYB22 11/32 1| |ZTB1508 15/64 X 8 1
WYB23 23/64 1| |ZTB1512 15/64 X 12 1




WYB24 3/8 1| |ZTB1608 1/4 X 8 1
WYB25 25/64 1| |ZTB1612 1/4 X 12 1
WYB26 13/32 1| |ZTB1618 1/4 X 18 1
WYB27 27/64 1| |ZTB1712 17/64 X 12 1
WYB28 7/16 1| |ZTB1812 9/32 X 12 1
LONG BOY 12" & 18" STRAIGHT SHANK ZTB1818 9/32 X 18 1
DRILL BIT ) ZTB1912 19/64 X 12 1
ZTB2012 5/16 X 12 1
Part number Description Pack ZTB2018 5/16 X 18 1
ZTB2512 25/64 X 12 1| |Z2TB2112 21/64 X 12 1
ZTB2612 13/32 X 12 1| |2TB2212 11/32 X 12 1
ZTB2618 13/32 X 18 1| |2TB2218 11/32 X 18 1
ZTB2712 27/64 X 12 1| |ZTB2312 23/64 X 12 1
ZTB2812 7/16 X 12 1| |Z2TB2408 3/8 X 8 1
ZTB2818 7/16 X 18 1| |2TB2412 3/8 X 12 1
ZTB2912 29/64 X 12 1| |Z2TB2418 3/8 X 18 1
ZTB3012 15/32 X 12 11 HI-SPEED HEX CHUCK SHANK
ZTB3018 15/32 X 18 1] DRILL BIT e
ZTB3112 31/64 X 12 1  (cont.)
ZTB3208 1/2 X8 1 Part number Description Pack
ZTB3212 1/2 X 12 1] JATNO6 3/32 (T45406) 1
ZTB3218 1/2 X 18 1] JATNO8 1/8 (T45408) 1
ZTB3412 17/32 X 12 1] JATNO9 9/64 1
ZTB3418 17/32 X 18 1] JATN10 5/32 (T45410) 1
ZTB3612 9/16 X 12 1] JATN11 11/64 1
ZTB3618 9/16 X 18 1] JATN12 3/16 (T45412) 1
ZTB3812 19/32 X 12 1| |ATN14 7/32 (T45414) 1
ZTB3818 19/32 X 18 1] JATN16 1/4 (T45416) 1
ZTB4012 5/8 X 12 1
ZTB4018 5/8 X 18 1
ZTB4412 11/16 X 12 1| HI-SPEED LEFT HAND - #150L
ZTB4812 3/4 X 12 1 DRILL BIT m
Part number Description Pack
HI-SPEED MULTI-STEP CONE AUJ04 1/16 (44404) 6
DRILL BIT $ [AUJO5 5/64 6
AUJ06 3/32 (44406) 6
Part number Description Pack AUJO7 7/64 6
AMN37807 1/8 TO 1/2 1 [JAUJOS 1/8 (44408) 6
AMN37811 3/16 TO 7/8 1 JAUJO9 9/64 6
AMN37810 1/4 TO 3/4 1 [JAUJ10 5/32 (44410) 6
AMN3780444 1/4 TO 3/8 1] JAUJ11 11/64 6
AMN52520 1/2 SHK 9/16-1 SIZE 1 JAUJ12 3/16 (44412) 6
AMN37818 13/16 TO 1 3/8 1] [JAUJ13 13/64 6
AUJ14 7/32 (44414) 6
[AUJ15 15/64 6
HI-SPEED HEX CHUCK SHANK AUJ16 1/4 (44416) 6
DRILL BIT e —— AUJ18 9/32 (44418) 6




AUJ19 19/64 3
Part number Description Pack AUJ20 5/16 (44420) 3
ATNKIT 1/16 thru 1/4 (7 piece set) 1] JAUJ22 11/32 (44422) 3
ATNO4 1/16 (T45404) 1] [JAUJ24 3/8 (44424) 3
FLAT PADDLE STYLE WOOD AUJ26 13/32 3
DRILL BIT I:G AUJ28 7/16 (44428) 3
(cont.) AUJ30 15/32 3
Part number Description Pack AUJ32 1/2 (44432) 3
BDG05 5/16 1
BDG06 3/8 1
BDG07 7/16 1| FLAT PADDLE STYLE WOOD
BDGOS 112 1| pRILLBIT ::-{P
BDG09 9/16 1
BDG10 5/8 1 Part number Description Pack
BDG11 11/16 1] |BDG04 1/4 1
BDG12 3/4 1| DOUBLE END 135 DEG SPLIT POINT 490V
BDG13 13/16 1| DRILL BIT
BDG14 7/8 1]  (cont.) EP':;S
BDG15 15/16 1 Part number Description Pack
BDG16 1 1] |BKLO8 1/8 12
BDG18 11/8 1] |BKLO09 9/64 12
BDG20 11/4 1] |BKL10 5/32 12
BDG22 13/8 1] [BKL12 3/16 12
BDG24 11/2 1] [BKL14 7/32 12
BDG192 12 EXTENSION 1 |BKL16 1/4 12
BKL10N #10 12
BKL11N #11 12
BRAD POINT (BULLET) WOOD/PLASTIC BKL20N #20 12
DRILL BIT BKL30N #30 12
(===
Part number Description Pack
BKT08BPH 1/8 12| METRIC 135 DEG SPLIT POINT
BKT10BPH 5/32 12|  JOBBER DRILL BIT EE oSS
BKT12BPH 3/16 12
BKT14BPH 7/32 12| |Part number Description Pack
BKT16BPH 1/4 12| [BKJ0125 1.25 MM 10
BKT18BPH 9/32 12| [BKJO019 1.9 MM 10
BKT20BPH 5/16 12| |BKJ20 2.0 MM 10
BKT22BPH 11/32 6] |BKJ205 2.05 MM 10
BKT24BPH 3/8 6] |BKJ250 2.50 MM 10
BKT26BPH 13/32 6] |BKJ290 2.90 MM 10
BKT28BPH 7/16 6] |BKJ30 3.0 MM 10
BKT32BPH 1/2 6] |BKJ330 3.30 MM 10
BKJ35 3.5 MM 10
BKJ38 3.8 MM 10
DOUBLE END 135 DEG SPLIT POINT 490V BKJ40 4.0 MM 10
DRILL BIT BKJ42 4.2 MM 10
L—“‘C’S BKJ45 4.5 MM 10




Part number Description Pack BKJ50 5.0 MM 10
BKL06 3/32 12| |BKJ55 5.5 MM 10
BKL07 7/64 12| |BKJ60 6.0 MM 10
METRIC 135 DEG SPLIT POINT BKJ61 6.1 MM 10
JOBBER DRILL BIT EEE =SS5  [Bkes 6.3 MM 10
(cont.) BKJ65 6.5 MM 10
Part number Description Pack BKJ67 6.7 MM 10
BKJ95 9.5 MM 5| |BKJ68 6.8 MM 10
BKJ100 10.0 MM 5| |BKJ70 7.0 MM 10
BKJ102 10.2 MM 5| |BKJ75 7.5 MM 5
BKJ105 10.5 MM 5| |BKJ80 8.0 MM 5
BKJ110 11.0 MM 5| |BKJ85 8.5 MM 5
BKJ115 11.5 MM 5| |BKJ86 8.6 MM 5
BKJ120 12.0 MM 5| |BKJ90 9.0 MM 5
BKJ125 12.5 MM 5| LETTER HI-SPEED JOBBER DRILL SET
BKJ130 13.0 MM 5| DRILL BIT SET AND INDEX
Part number Description

SHIP HEAD AUGER STRAIGHT SHANK WSB26L A-Z W/CASE 1
WOOD DRILL BIT

— )\ NN 2
Part number Description Pack METRIC HI-SPEED JOBBER DRILL SET
BKV3817 3/8 X 18 1] DRILL BIT SET AND INDEX
BKV71617 7/16 X 18 - 5/16 HX 1
BKV126 12 X71/2 1 Part number Description
BKV1217 1/2 X 18 1] |WSB11M 1.0-6.0MM X 1/2MM 1
BKV91617 9/16 X 18 - 7/16 HX 1| |WSB25M 1.0-13.0MM X 1/2MM 1
BKV586 5/8 X7 1/2 1
BKV5817 5/8 X 18 1
BKV346 314 X712 1 NUMBER HI-SPEED JOBBER DRILL SET
BKV3417 3/4 X 18 1| DRILL BIT SET AND INDEX
BKV786 7/8 X7 1/2 1
BKV7817 7/8 X 18 1 Part number Description Pack
BKV16 1X71/2 1| |WSB20N 61-80 W/CASE 1
BKV117 1X18 1| |WSB60ON 1-60 W/CASE 1
BKV11417 11/4X18 1 [|WSBS8ON 1-80 W/CASE 1
GLASS/TILE SPEAR POINTED FRACTION HI-SPEED JOBBER DRILL SET
DRILL BIT [ :'-> DRILL BIT SET AND INDEX
Part number Description Pack Part number Description Pack
BKK18 1/8 2| [|WSBHFU27 1/16-1/2X64/13 DEG SPLIT POI 1
BKK532 5/32 2| |WSBSPM29 1/16-1/2 FLAT SHANK 135 DEQ 1
BKK316 3/16 2| [|WSBSP115 1/16-1/2 A-Z 1-60 1
BKK14 1/4 2| [WSB12250 9/16-1 (4 PIECE S&D) 1
BKK516 5/16 2| |WSB13F 1/16-1/4 X 64TH (44110) 1
BKK38 3/8 2| [WSB15F 1/16-1/2 X 32ND (44120) 1




BKK12 1/2 | 1| WSB21F 1/16-3/8 X 64TH (44130) 1
\WSB29CB 1/16/1/2 (29 PIECE COBALT) 1
GREENFIELD TAP & DRILL SET WSB29F 1/16-1/2 X 64TH (43380) 1
WITH METAL INDEX WSB29LH 1/16-1/2 LEFT HAND (17 PIECH 1
WSB92400 9/16-1X1/16 8PC S&D 1
Part number Description
APJ52541 HM-18 (18 PIECE W/METRIC § 1
APJ52580 #6 - 1/2 UNC (18 PIECE) 1| FRACTION HI-SPEED POWER DRILL SET
APJ68 #4-1/2 NC (12910) 1| DRILL BIT SET AND INDEX
APJ69939 6/32 THRU 1/4-20 1
Part number Description Pack
WSB29FP 1/16-1/2 BY 64THS 1
DRILL INDEX CASES ONLY
HI-SPEED DRILL & COUNTERSINK PLAIN #217
S
Part number Description Pack (cont.)
WTBA33 1/2-1 S&D STAND 1 Part number Description Pack
WTB11M M1.0 TO M6.0 METRIC 1| |WPB145-6 1
WTB13HD 1/16-1/4 BY 64THS 1| |WPB415-7 1
WTB20H 61-80 1| |WPB415-8 1
WTB21H 1/16-3/8 1
WTB25M M1.0 TO M13.0 METRIC 1
WTB26H A-Z 1| HI-SPEED DRILL & COUNTERSINK BELL #217B
WTB60H 1-60 1 %
WTB80H 1-80 1 A
WTB13H 1/16-1/4 BY 64THS 1 Part number Description Pack
WTB15H 1/16 TO 1/2 (15PC) 1 |WRB415B-11 11 1
WTB29H 1/16 TO 1/2 (29PC) 1 |WRB415B-12 12 1
WRB415B-13 13 1
WRB415B-14 14 1
MASTER DRILL COUNTER DISPENSER WRB145B-15 15 1
WRB415B-16 16 1
WRB415B-17 17 1
Part number Description WRB145B-18 18 1
WTBFRAC 1/16-1/2 X 64THS 3DR 1
WTB5DRWNO 1 TO 60 (5 DRAWERS) 1

HI-SPEED DRILL & COUNTERSINK PLAIN #217

#800 SCREW EXTRACTOR SETS WITH CASE

= — 1/ /72

@ Part number Description Pack

XCB515 #1815 5PC #1-5 1
Part number Description Pack XCB516 #1816 6PC #1-6 1
WPB415-00 00 1] [XCB517 #1823 3PC #4-6 1
WPB415-0 0 1] [XCB518 #1818 4PC #6-9 1
WPB415-1 1 1] [XCB521 #1821 4PC 5-7 1/2 1
WPB415-2 2 1] |XCB819 #1 THRU #9 9 PC 1
WPB415-3 3 1
WPB415-4 4 1




|WPB41 5-5

#3800 LITTLE GIANT SCREW EXTRACTOR

#800 LITTLE GIANT SCREW EXTRACTOR

= —////

(cont.) Part number Description Pack
Part number Description Pack YHB001 #01 (#8 - 1/4) 1
'YHBO007 #07 (1" - 1 3/8) 1| |YHBO002 #02 (#12 - 5/16) 1
YHB750 07-1/2 (11/8- 1 1/2) 1| |YHB003 #03 (5/16 - 7/16) 1
'YHB008 #08 (1 3/8 - 1 3/4) 1 |YHB004 #04 (7/16 - 9/16) 1
'YHB009 #09 (1 3/4 -2 1/8) 1 |YHB005 #05 (9/16 - 3/4) 1
YHB010 #10 (2 1/8 -2 1/2) 1 [|YHB525 5-1/4 (11/16 - 15/16) 1
YHB011 #11 (2 1/2 - 3 RANGE) 1| |YHB006 #06 (3/4-1") 1
YHB012 #12 (3 - 3 1/2 RANGE) 1 [|YHB637 6-3/8 (15/16-1 1/8) 1
#213 HI-SPEED 60 DEG
CENTER REAMER COUNTERSINKS
SPIRAL FLUTE FRAME REAMER #50UB
Part number Description Pack
m XDB0482 1/4 (213 56836) 1
Part number Description Pack XDB0682 3/8 (213 56838) 1
BKW50UB08 1/2 X 1/2 SHANK 1| |XDB8-482 1/2 X 1/4 (213 56839) 1
BKW50UB09 9/16 X 1/2 SHANK 1| |XDB8-682 1/2 X 3/8 (213 56840) 1
BKW50UB10 5/8 X 1/2 SHANK 1] |XDB1082 5/8 (213 56842) 1
BKW50UB11 11/16 X 1/2 SHANK 1] |XDB1282 3/4 (213 56844) 1
BKW50UB12 3/4 X 1/2 SHANK 1
BKW50UB13 13/16 X 1/2 SHANK 1
BKW50UB14 7/8 X 1/2 SHANK 1| #209SF 60 DEG SINGLE FLUTE HS COUNTERSINKS
BKW50UB15 15/16 X 1/2 SHANK 1 @
BKW50UB16 1 X 1/2 SHANK 1
BKW50UB17 11/16 X 1/2 SHANK 1 Part number Description Pack
BKW50UB18 11/8 X 3/4 SHANK 1| |XEB0460 1/4 1
BKW50UB19 1.3/16 X 3/4 SHANK 1| |XEB0660 3/8 1
BKW50UB20 1 1/4 X 1/2 SHANK 1| |XEB0860 12 1
BKW50UB21 15/16 X 3/4 SHANK 1| [|XEB1260 3/4 1
XEB1660 1 1

#213 HI-SPEED 60 DEG CENTER REAMER COUNTERSINKS

—

#2095 82 DEG SINGLE FLUTE HS COUNTERSINKS

=

Part number Description Pack

XDB0460 1/4 (213 56816) 1| |Part number Description Pack
XDB0660 3/8 (213 56818) 1| |XEB0482 1/4 1
XDB8-460 1/2 X 1/4 (213 56819) 1| |XEB0682 3/8 1
XDB8-660 1/2 X 3/8 (213 56820) 1| |XEB0882 1/2 1
XDB1060 5/8 (213 56822) 1| |XEB1282 3/4 1
XDB1260 3/4 (213 56824) 1| |XEB1682 1 1

#209F 60 DEG 3-FLUTE HS MACH COUNTERSINKS

— >




#209F 82 DEG 3-FLUTE HS MACH COUNTERSINKS

@ Part number Description Pack
XFB0860 1/2  (209F 56780) 1
Part number Description Pack XFB1060 5/8 1
XFB0882 1/2 (4 FLUTE) 1 XFB1260 3/4 1
XFB1082 5/8 1 XFB1460 7/8 1
XFB1282 3/4 (4 FLUTE) 1 XFB1660 1 1
XFB1482 7/8 1
XFB1682 1 (4 FLUTE) 1
MASONRY ECONOMY REGULAR SPIRAL MASONRY REGULAR SPIRAL - CARBIDE TIP
DRILL BIT DRILL BIT
CCESSSS [ m— NN
Part number Description Pack Part number Description Pack
ANWO03128 3/16 X 4 1 XMB72 11/8 X6 1
ANW04128 1/4 X 4 1 XMB80 11/4X1/2X6 1
ANW05128 5/16 X 4 1 XMB96 11/2X1/2X6 1
ANW06128 3/8 X 4 1
ANW06192 3/8 X 6 1

MASONRY REGULAR SPIRAL - CARBIDE TIP

MASONRY FAST SPIRAL - CARBIDE TIP

DRILL BIT

C_IITITNNe®

DRILL BIT ‘m Part number Description Pack
XNBO08 1/8 X 3 1
Part number Description Pack XNB11 11/64 1
XMB08 1/8 X 3 1 [XNB12 3/16 X 4 1
XMB10 5/32 X 3 1] |XNB16-4 1/4 X 4 1
XMB10-6 5/32 X 6 1] |XNB16-6 1/4 X 6 1
XMB12 3/16 X 4 1] [XNB20-4 5/16 X 4 1
XMB12-6 3/16 X 6 1] |XNB20-6 5/16 X 6 1
XMB16-4 1/4 X 4 1] [XNB24-4 3/8 X 4 1
XMB16-6 1/4 X 6 1] [XNB24-6 3/8 X 6 1
XMB20-4 5/16 X 4 1] IXNB28-24 7/16 X 6 1
XMB20-6 5/16 X 6 1] |XNB32-16 1/2 X4 1
XMB24-4 3/8 X 4 1] IXNB32-24 1/2 X6 1
XMB24-6 3/8 X 6 1] [XNB36 9/16 X 6 1
XMB28-16 7/16 X 4 1] |XNB40 5/8 X 6 1
XMB28-24 7/16 X 6 1] [XNB44 11/16 1
XMB32-16 12X 4 1] |XNB48 3/4 X 6 1
XMB32-24 1/2 X6 1] [|XNB56 7/8 X 6 1
XMB36 9/16 X 6 1] |XNB64 1X 6 1
XMB40 5/8 X 6 1
XMB44 11/16 X 6 1
XMB48 3/4 X 6 1 MASONRY LONG REGULAR SPIRAL - CARBIDE TIP
XMB56 7/8 X 6 1 DRILLBIT m
XMB64 1X6 1
MASONRY LONG REGULAR SPIRAL - CARBIDE TIP Part number Description |Pack




DRILL BIT ‘:m XPB1612 1/4 X 12 1
(cont.) XPB1618 1/4 X 18 1
Part number Description Pack XPB2012 5/16 X 12 1
XPB4012 5/8 X 12 1| [|XPB2018 5/16 X 18 1
XPB4018 5/8 X 18 1| [XPB2412 3/8 X 12 1
XPB4812 3/4 X 12 1| [XPB2418 3/8 X 18 1
XPB4818 3/4 X 18 1| [XPB2812 7/16 X 12 1
XPB5612 7/8 X 12 1| |XPB2818 7/16 X 18 1
XPB5618 7/8 X 18 1| [XPB3212 1/2 X 12 1
XPB6412 1X12 1] [XPB3218 1/2 X 18 1
XPB6418 1X18 1 MASONRY SDS ROTARY HAMMER DRILL BITS
(cont) = s
MASONRY SDS ROTARY HAMMER DRILL BITS Part number Description Pack
BKRJHSDS-424A 5/8 X 24 X 21 1

= ooooest BKRJHSDS-426 11/16 X9 X7 1
Part number Description Pack BKRJHSDS-427 3/4 X6 X 4 1
BKRJHSDS-400A 5/32 X 4X 2 1| |BKRJHSDS-428 3/4 X 8X 6 1
BKRJHSDS-400B 5/32 X 6X 4 1] |BKRJHHM303 3/4X 12X 8 1
BKRJHSDS-401 3/16 X 4 X 2 1] |BKRJHHM304 3/4 X18 X 13 3/8 1
BKRJHSDS-401A 3/16 X 6 X 4 1| |BKRJHSDS-430 3/4 X 18X 16 1
BKRJHSDS-401B 3/16 X8 X 6 1] |BKRJHHM305 3/4 X 24 X 18 7/8 1
BKRJHSDS-401G 3/16 X 12 X 10 1] |BKRJHSDS-431 27/32 X6 X 4 1
BKRJHSDS-401C 7/32 X6 X 4 1] |BKRJHHM309 7/8 X 13X 8 1
BKRJHSDS-401D 7/32 X 8X 6 1| |BKRJHSDS-433 7/8 X 18X 16 1
BKRJHSDS-401F 7/32 X 16X 14 1] |BKRJHHM312 1X13X8 1
BKRJHSDS-402 1/4 X 4X 2 1| |BKRJHSDS-435 1X 18 X 16 1
BKRJHSDS-403A 1/4 X8 X6 1| |BKRJHHM314 1X24X19 1
BKRJHSDS-403B 1/4 X 12 X 10 1| |BKRJHSDS-436 11/8 X 18 X 16 1
BKRJHSDS-403C 1/4 X 18 X 16 1| |BKRJHSDS-437 11/4 X 18 X 16 1
BKRJHSDS-404 9/32 X4 X 2 1
BKRJHSDS-405 9/32 X6 X 4 1
BKRJHSDS-406 5/16 X 4 X 2 11 GROO-V-TIP MULTI PURPOSE AG/STL
BKRJHSDS-408A 5/16 X 12 X 10 1| DRILLBIT _na@‘
BKRJHSDS-410 3/8 X9 X7 1 il
BKRJHSDS-412 3/8 X 18 X 16 1 Part number Description Pack
BKRJHSDS-412A 3/8 X 24 X 22 1| |CDJGRTKIT 3/16-1/2 X 6 (5 PIECE KIT) 1
BKRJHSDS-413 7/16 X 6X 4 1| |CDJGRT33 3/16 X 3 X 17/8 1
BKRJHSDS-414 7/16 X 12 X 10 1| |CDJGRT34 3/16 X 4 X 2 3/8 1
BKRJHSDS-416 1/2 X 8X 6 1| |CDJGRT36 3/16 X 6 X 5 3/8 1
BKRJHHM300A 1/2X 13X 8 1| |CDJGRT38 3/16 X8 X 6 1
BKRJHSDS-418A 1/2 X 24 X 22 1| |CDJGRT44 14 X4X21/4 1
BKRJHSDS-420A 9/16 X 18 X 16 1| |CDJGRT46 1/4 X6 X 3 3/4 1
BKRJHHM300 5/8 X 13 X 8 1| |CDJGRT48 1/4 X8 X6 1
BKRJHSDS-423 5/8 X 12 X 10 1| |CDJGRT54 5/16 X 4 X 2 1/2 1
BKRJHSDS-424 5/8 X 18 X 16 1| |CDJGRT56 5/16 X 6 X 4 1
UNIPLUS CERAMIC/MASONRY CDJGRT64 3/8 X 6 X21/2 1
DRILL BIT — ,E. CDJGRT66 3/8 X6 X4 1




CDJGRT76 7/16 X 6X 4 1
Part number Description Pack CDJGRT86 1/2X6 X4 1
BDV1JP 5/32 X3 1/8 1| |CDJGRT96 9/16 X 6 X 4 1
BDV2JP 3/16 X 3 1/2 1| |CDJGRT106 5/8 X 6X 4 1
BDV3JP 1/4 X4 1/8 1 |CDJGRT116 11/16 X6 X 4 1
BDV5JP 5/16 X 4 3/4 1| |CDJGRT126 3/4 X 6X 4 1
BDV6JP 3/8 X 6 1| |CDJGRT146 7/8 X6 X4 1
BDV7JP 1/2 X 6 3/4 1 |CDJGRT166 1X6X4 1

5305-5303 HI-SPEED GH3 TAPER TAPS
5305-5303 HI-SPEED GH3 TAPER TAPS =

S ==

Part number Description Pack
Part number Description Pack XTB10U 5/8-11 1
XTB00S 0/80 1] [XTB10S 5/8-18 1
XTB11U 1/64 1] |XTB10ULH 5/8-11 LEFT HAND 1
XTB11S 1/72 1 [XTB12U 3/4-10 1
XTB22U 2/56 1] [XTB12S 3/4-16 1
XTB22S 2/64 1] [XTB12ULH 3/4-10 LEFT HAND 1
XTB33U 3/48 1] [XTB14U 7/8-9 1
XTB33S 3/56 1] [XTB14S 7/8-14 1
XTB44C 4/36 1] [XTB16U 1-8 1
XTB44U 4/40 1 [XTB16S 1-14 1
XTB44S 4/48 1] [XTB18U 11/8-7 1
XTB55U 5/40 1] [XTB18S 11/8-12 1
XTB66U 6/32 1] [XTB20U 11/4-7 1
XTB66S 6-40 1] [XTB20S 11/4-12 1
XTB88U 8/32 1] [XTB222U 13/8-6 1
XTB88S 8/36 1] [XTB24U 11/2-6 1
XTBO3U 10/24 1] [XTB24S 11/2-12 1
XTB03S 10/32 1] [XTB32S 2-12 1
XTB21U 12/24 1
XTB21S 12/28 1
XTB04U 1/4-20 11 5305-5303 HI-SPEED GH3 PLUG TAPS
XTB04S 1/4-28 1 e
XTBO5U 5/16-18 1
XTB05S 5/16-24 1 Part number Description Pack
XTBO6U 3/8-16 1] [XUB00S 0/80 1
XTB06S 3/8-24 1 [XUB11U 1/64 1
XTBO7U 7/16-14 1 [XUB11S 1/72 1
XTBO07S 7/16-20 1] [XUB22U 2/56 1
XTBO8U 1/2-13 1] [XUB22S 2/64 1
XTB08S 1/2-20 1] XUB33U 3/48 1
XTBO9U 9/16-12 1] [XUB33S 3/56 1
XTB09S 9/16-18 1] [XUB44U 4/40 1
5305-5303 HI-SPEED GH3 PLUG TAPS XUB44S 4/48 1

XUB55U 5/40 1
(cont.) e XUB55S 5/44 1




Part number Description Pack XUB66U 6/32 1
XUB03S2FL 10/32 (2 FLUTE) 1] |XUB66S 6-40 1
XUB21U 12/24 1] |XUB66U2FL 6/32 (2 FLUTE) 1
XUB21S 12/28 1] |XUB88U 8/32 1
XUB04U 1/4-20 1] |XUB88S 8/36 1
XUB04S 1/4-28 1] |XUB88U2FL 8/32 (2 FLUTE) 1
XUB04U-LH 1/4-20 LEFT/HAND 1] |XUBO3U 10/24 1
XUB04U2FL 1/4-20 (2 FLUTE) 1 |XUB03S 10/32 1
XUB04S2FL 1/4-28 (2 FLUTE) 11 5305-5303 HI-SPEED GH3 BOTTOM TAPS
XUB05U 5/16-18 1
XUB05S 5/16-24 1
XUBO5U2FL 5/16-18 (2 FLUTE) 1| |Part number Description Pack
XUB0O6U 3/8-16 1] |XVB00S 0/80 1
XUBO06S 3/8-24 1 |XVB11U 1/64 1
XUB07U 7/16-14 1 |XVB11S 1/72 1
XUBO07S 7/16-20 1 |XvB22U 2/56 1
XUB08U 1/2-13 1 |XVB22S 2/64 1
XUBO08S 1/2-20 1 |XVB33U 3/48 1
XUB09U 9/16-12 1 [XVB33S 3/56 1
XUB09S 9/16-18 1] |XVB44C 4/36 1
XUB09SLH 9/16-18 LEFT HAND 1] |XVB44U 4/40 1
XUB10U 5/8-11 1| |XVB44S 4/48 1
XUB10S 5/8-18 1 [XVB55U 5/40 1
XUB12U 3/4-10 1| |XVB55S8 5/44 1
XUB12S 3/4-16 1 [XVB66U 6/32 1
XUB12ULH 3/4-10 LEFT HAND 1] |XVB66S 6-40 1
XUB14U 7/8-9 1] |XVB88U 8/32 1
XUB14S 7/8-14 1] [XVB88S 8/36 1
XUB16U 1-8 1] |XVBO3U 10/24 1
XUB16S 1-14 1] |XVB03S 10/32 1
XUB1612S 1-12 1] |XVB21U 12/24 1
XUB18U 11/8-7 1| |XVB21S 12/28 1
XUB18S 11/8-12 1] |XVB04U 1/4-20 1
XUB20U 11/4-7 1] |XVB04S 1/4-28 1
XUB20S 11/4-12 1] |XVBO5U 5/16-18 1
XUB222U 1.3/8-6 1] |XVB05S 5/16-24 1
XUB222S 1.3/8-12 1] |XVBO06U 3/8-16 1
XUB222UN8 1.3/8-8 1| |XVB06S 3/8-24 1
XUB24U 11/2-6 1] |XVBO6SLH 3/8-24 LEFT HAND 1
XUB24S 11/2-12 1] |XVBO7U 7/16-14 1
XUB226UN8 15/8-8 1| |XVB07S 7/16-20 1
XVB08U 1/2-13 1
XVB08S 1/2-20 1
XVB09U 9/16-12 1
5305-5303 HI-SPEED GH3 BOTTOM TAPS XVB09S 9/16-18 1
XVB10U 5/8-11 1
(cont.) XVB10S 5/8-18 1
|Part number Description Pack XVB10ULH 5/8-11 LEFT HAND 1




XVB18S 11/8-12 1 XVB12U 3/4-10 1
XVB18U 11/8-7 1 XVB12S 3/4-16 1
XVB20U 11/4-7 1 XVB12ULH 3/4-10 LEFT HAND 1
XVB20S 11/4-12 1] [XvB14U 7/8-9 1
XVB222U 1 3/8-6 1 XVB14S 7/8-14 1
XVB222UN8 1 3/8-8 1 XVB16U 1-8 1
XVB24U 11/2-6 1 XVB16S 1-14 1
XVB24S 11/2-12 1] 5305-5303 HI-SPEED GH3 B-P-T TAP SET
XVB24UN8 11/2-8 1 %
XVB26UNS 1 5/8-8 1|  (cont.) |
XVB28UNS 1.3/4-8 1 Part number Description Pack
XVB30UNS8 17/8-8 1 |XWB08S 1/2-20 (11635) 1
XWB09U 9/16-12 (11639) 1
XWB09S 9/16-18 (11643) 1
5305-5303 HI-SPEED GH3 B-P-T TAP SET XWB10U 5/8-11 (11647) 1
=== |xwa10s 5/8-18 (11651) 1
8F—=—=—==> |xwB11U 1/64 (15117) 1
Part number Description Pack XWB11S 1/72 (15123) 1
XWB00S 0/80 (15105) 1 XWB12U 3/4-10 (11655) 1
XWB22U 2/56 (11511) 1| |XWB12S 3/4-16 (11659) 1
XWB22S 2/64 1 XWB14U 7/8-9 (11663) 1
XWB33U 3/48 (15159) 1| |xwB14s 7/8-14 (11667) 1
XWB33S 3/56 (15169) 1 XWB16U 1-8 (11671) 1
XWB44U 4/40 (11519) 1 XWB16S 1-14 (11679) 1
XWB44S 4/48 1 XWB18U 11/8-7 (11683) 1
XWB55U 5/40 (11527) 1 XWB18S 11/8-12 1
XWB66U 6/32 (11531) 1 XWB18UN8 11/8-8 1
XWB66S 6-40 1 XWB20U 1 1/4-7 (11695) 1
XWB88U 8/32 (11543) 1 XWB20S 11/4-12 1
XWB88S 8/36 (15304) 1| |XWB20UNS8 11/4-8 1
XWB21U 12/24 (11559) 1 XWB222U 1 3/8-6 1
XWB21S 12/28 (15393) 1 XWB22UN8 1 3/8-8 1
XWB033 10/32 (11555) 1 XWB24U 11/2-6 1
XWB03U 10/24 (11551) 1
XWB04U 1/4-20 (11599) 1
XWB04S 1/4-28 (11603) 11 5301 HI-SPEED PLUG SPIRAL PT GUN TAPS
XWB05U 5/16-18 (11607) 1
XWB05S 5/16-24 (11611) 1
XWB06U 3/8-16 (11615) 1| |Part number Description Pack
XWB06S 3/8-24 (11619) 1 XXB00S 0/80 1
XWB07U 7/16-14 (11623) 1 XXB11S 1/72 1
XWB07S 7/16-20 (11627) 1 XXB11U 1/64 1
XWB08U 1/2-13 (11631) 1| |XXB22S 2/64 1
5301 HI-SPEED PLUG SPIRAL PT GUN TAPS XXB22U 2/56 1
XXB33S 3/56 1
(cont.) XXB33U 3/48 1
Part number Description Pack XXB44C 4/36 1
XXB0O3U 10/24  (13251) 1 XXB44S 4/48 1




XXB03S 10/32  (13257) 1 XXB44U 4/40 1

XXB21U 12/24  (13362) 1 XXB55U 5/40 1

XXB21S 12/28 1 XXB66U 6/32 (13232) 1

XXB04U 1/4-20  (13270) 1 XXB66S 6-40 1

XXB04S 1/4-28  (13280) 1| [xxBssu 8/32  (13242) 1

XXB05U 5/16-18 (13291) 1| [xxBsss 8/36 1

XXB05S 5/16-24 (13300) 11 5601 HI-SPEED GH3 HVY DUTY SP PT GUN TAPS

XXB06U 3/8-16  (13307) 1| HEAVY DUTY

XXB06S 3/8-24  (13313) 1]  (cont.) E@

XXB0O7U 7/16-14 (13319) 1 Part number Description Pack

XXB07S 7/16-20 1 XYB12U 3/4-10  (16832) 1

XXB08U 1/2-13  (13328) 1

XXB08S 1/2-20  (13334) 1

XXB10U 5/8-11  (13339) 11 PREMIUM 5320 GROUND THD TAPER PIPE TAP

XXB10S 5/8-18 1| HI-SPEED @

XXB12U 3/4-10  (13343) 1

XXB12S 3/4-16 1 Part number Description Pack

XXB14UX 7/8-9 1 YABO1 1/16-27 (16203) 1

XXB1612S 1-12 1 [YAB02 1/8-27 (11800) 1

XXB16U 1-8 1| |YABO4 1/4-18 (11802) 1
[YAB06 3/8-18 (11803) 1
YABO08 1/2-14 (11804) 1

5601 HI-SPEED GH3 HVY DUTY SP PT GUN TAPS YAB12 3/4-14 (11805) 1

HEAVY DUTY — 'YAB16 1-11 1/2 (11806) 1

E:Zm [YAB20 11/4-111/2 1

Part number Description Pack YAB24 11/2-111/2 1

XYB66U 6/32 (16802) 1 YAB32 2-111/2 1

XYB88U 8/32 (16805) 1

XYB88S 8/36 1

XYBO3U 10/24  (16807) 1 320 CARBON TAPER PIPE TAP

XYB03S 10/32  (16809) 1

XYB04U 1/4-20 (16810) 1

XYB04S 1/4-28 (16812) 1 Part number Description Pack

XYBO05U 5/16-18 (16814) 1 [YBB02 1/8-27  (11300) 1

XYB05S 5/16-24 (16816) 1 YBB04 1/4-18  (11303) 1

XYBO6U 3/8-16  (16818) 1 'YBB06 3/8-18  (11305) 1

XYB06S 3/8-24  (16820) 1 YBB08 1/2-14  (11307) 1

XYBO7U 7/16-14 1 YBB12 3/4-14  (11311) 1

XYB07S 7/16-20 1 YBB16 1-111/2 (11314) 1

XYBO8U 1/2-13  (16826) 1 YBB20 11/4-11 1/2 (11317) 1

XYB08S 1/2-20 1 YBB24 11/2-11 1/2 (11320) 1

XYB10U 5/8-11  (16830) 1 YBB32 2-111/2 1

5353 GROUND THD METRIC TAPER TAP

HI-SPEED

(cont.) e 5353 GROUND THD METRIC TAPER TAP

Part number Description Pack HI-SPEED

YJB5C M5 X 0.8 1 EE%

YJB6C M6 X1  (14781) 1 |Part number Description |Pack |




YJB7C M7 X 1 1 YJB2-5C |M2.5 X 0.45 1
YJB8C M8 X 1.25 (14797) 1 YJB3C |M3 X 0.5 1
YJBSF M8 X 1 1 |YJB3-5C M3.5 X 0.6 1
YJB10C M10 X 1.5 (14813) 1 YJB4X M4 X 0.7 (14757) 1
YJB10F M10 X 1.25 1 YJB4-5C M4.5 X 0.75 1
YJB10EF M10 X 1.0 1] 5353 GROUND THD METRIC PLUG TAP
YJB12C M12 X 1.75 (14829) 1| HI-SPEED T —,
YJB12EF M12 X 1.25 1 (cont.)
YJB12F M12 X 1.5 1 Part number Description Pack
YJB14C M14 X 2 1 YKB14F M14 X 1.5 1
YJB14F M14 X 1.5 1 [YKB16C M16 X 2 1
YJB16C M16 X 2 1 YKB16F M16 X 1.5 1
YJB16F M16 X 1.5 1 [YKB18C M18 X 2.5 1
YJB18C M18 X 2.5 1 'YKB18EF M18 X 1.5 1
'YJB18EF M18 X 1.5 1 [YKB20-2.0 M20-2.0 1
YJB20-2.0 M20-2.0 1 [YKB20C M20 X 2.5 1
YJB20C M20 X 2.5 1 YKB22C M22 X 2.5 1
YJB22C M22 X 2.5 1 YKB22EF M22 X 1.5 1
[YKB24C M24 X 3 (14910) 1
YKB30C [M30-3.5 1
5353 GROUND THD METRIC PLUG TAP
HI-SPEED H_I} E =
5353 GROUND THD METRIC BOTTOM TAP
Part number Description Pack HI-SPEED H_Fm
YKB2C M2.0 X 0.4 1 =
'YKB2-5C M2.5 X 0.45 1 Part number Description Pack
YKB3C M3 X 0.5 1 YLB2-5C M2.5 X 0.45 1
YKB3-5C M3.5 X 0.6 1 YLB3C M3 X 0.5 1
'YKB4C M4 X 0.7 (14758) 1 YLB3-5C M3.5 X 0.6 1
YKB4-5C M4.5 X 0.75 1 YLB4C M4 X 0.7 (14946) 1
YKB5C M5 X 0.8 1 YLB4-5C M4.5 X 0.75 1
YKB6C M6 X 1 (11900) 1 YLB5C M5 X 0.8 1
YKB7C M7 X 1 1 YLB6C M6 X 1 (14948) 1
YKB8C M8 X 1.25 (11901) 1 |YLB7C M7 X 1 1
YKB8F M8 X 1 1 YLB8C M8 X 1.25 (14949) 1
YKB10C M10 X 1.5 (11902) 1 YLB8F M8 X 1 1
'YKB10F M10 X 1.25 1 YLB10C M10 X 1.5 (14950) 1
'YKB10EFX M10 X 1.0 1 [YLB10F M10 X 1.25 1
YKB12C M12 X 1.75 (11903) 1 YLB10EF M10-1.0 1
YKB12EF M12 X 1.25 1 YLB12C M12 X 1.75 (14951) 1
YKB14C M14 X 2 1 YLB12F M12 X 1.5 1
535 GT METRIC PLUG GUN TAP YLB12EF M12 X 1.25 1
HI-SPEED YLB14C M14 X 2 1
YLB14F M14 X 1.5 1
Part number Description Pack YLB16C M16 X 2 1
YMB2C M2.0 X 0.4 1 YLB16F M16 X 1.5 1
YMB2-5C M2.5 X 0.45 1 YLB18C M18 X 2.5 1
YMB3C M3 X 0.5 1 YLB18EF M18 X 1.5 1




'YMB3-5C M3.5 X 0.6 1| |YLB20-2.0 |M20-2.0 1
YMB4C M4 X 0.7 1 [yYLB20C |M20 X 25 1
'YMB4-5C M4.5 X 0.75 1| |YLB22C |M22 X 25 1
YMB5C M5 X 0.8 1
YMB6C M6 X 1 11 UNS SERIES TAPER TAP #7303
YMB7C M7 X 1 1| HI-SPEED Py gm ——
YMB8C M8 X 1.25 1 (cont.)
'YMB8F M8 X 1 1 Part number Description Pack
YMB10C M10 X 1.5 1 BKX40T 2 1/2-8 TAPER 1
'YMB10F M10 X 1.25 1
YMB12C M12 X 1.75 1
YMB14C M14 X 2 1] INSERT COIL PLUG TAPS NC THD
YMB14F M14 X 1.5 1 F E b%ﬂ
YMB16C M16 X 2 1
'YMB16F M16 X 1.5 1 Part number Description Pack
YMB18C M18 X 2.5 1 HXD3100 2/56 1
YMB20C M20 X 2.5 1 HXD3101-04 4/40 1
HXD3103-06 6/32 1
HXD3104-2 8/32 1
UNS SERIES TAPER TAP #7303 HXD1187-3 10/24 1
HI-SPEED HXD3106-1 12/24 1
HXD1187-4 1/4-20 1
Part number Description Pack HXD42187-5 5/16-18 1
BKX18B 11/8-8 BOTTOM 1 HXD42187-6 3/8-16 1
BKX18P 11/8-8 PLUG 1 HXD42187-7 7/16-14 1
BKX18T 1 1/8-8 TAPER 1 HXD42187-8 1/2-13 1
BKX20B 11/4-8 BOTTOM 1 HXD3112-9 9/16-12 1
BKX20P 11/4-8 PLUG 1 HXD9187-10 5/8-11 1
BKX20T 1 1/4-8 TAPER 1 HXD9187-12 3/4-10 1
BKX22B 1 3/8-8 BOTTOM 1 HXD8187-14 7/8-9 1
BKX22P 1 3/8-8 PLUG 1 HXD8187-16 1-8 1
BKX22T 1 3/8-8 TAPER 1 HYD3164-161 1-12 1
BKX24B 11/2-8 BOTTOM 1 HXD3117-18 11/8-7 1
BKX24P 11/2-8 PLUG 1 HXD3118-20 11/4-7 1
BKX24T 1 1/2-8 TAPER 1 HXD3119-22 1 3/8-6 1
BKX32B 2-8 BOTTOM 1 HXD3120-24 11/2-6 1
BKX32T 2-8 TAPER 1
BKX32P 2-8 PLUG 1
BKX40B 2 1/2-8 BOTTOM 1] INSERT COIL PLUG TAPS NF THD
BKX40P 2 1/2-8 PLUG 1 H_b _M

INSERT COIL PLUG TAPS NF THD

H_b _M Part number Description Pack
(cont.) HYD3151-04 4/48 1
Part number Description Pack HYD3152-06 6/40 1
HYD42193-9 9/16-18 1| [HYD3153-2 8/36 1
HYD9193-10 5/8-18 1] |HYD23193-3 10/32 1
HYD9193-12 3/4-16 1| [|HYD1193-4 1/4-28 1
HYD3163-14 7/8-14 1| [|HYD1193-5 5/16-24 1




HYD3165-16 1-14 1| [|HYD1193-6 3/8-24 1
HYD4136-18 11/8-12 1| [|HYD42193-7 7/16-20 1
HYD4137-20 11/4-12 1| |HYD42193-8 1/2-20 1
HYD4138-22 13/8-12 1| INSERT COIL METRIC PLUG TAPS
HYD4139-24 11/2-12 1 F =—¢ % g
(cont.)
Part number Description Pack
INSERT COIL METRIC PLUG TAPS HZD3038-20 M20-2.5 1
H:ﬁ' % g HZD3039-20 M20-2.0 1
HZD3040-20 M20-1.5 1
Part number Description Pack
HZD3001-2 M2-0.4 1
HZD3003-25 M2.5-0.45 1] INSERT COIL SPARK PLUG TAPS
HZD3005-3 M3-.5 1 o= 2
HZD3006-35 M3.5-.6 1
HZD3007-4 M4-.7 1 Part number Description Pack
HZD2087-5 M5 X 0.8 1 [|JAD1030-14 14-1.25MM 1
HZD2087-6 M6 X 1.0 1
HZD2087-7 M7 X 1.0 1
HZD2087-8 M8 X 1.25 1] #377 HEX RETHREADING BOLT DIE
HZD3012-8 M8-1.0 1
HZD3013-9 M9-1.25 1
HZD2087-10 M10 X 1.5 1 Part number Description
HZD4944-10 M10 X 1.25 1] [XZB02P 1/8-27 NPT 25/32AF 1
HZD3017-10 M10-1.0 1| |XZB04S 1/4-28 1
HZD3018-11 M11-1.5 1] [XZB04U 1/4-20 (24107) 1
HZD2087-12 M12 X 1.75 1| [XZB04P 1/4-18 NPT 1 1/6AF PIPE THR 1
HZD4976-12 M12 X 1.5 1] [XZB05U 5/16-18 (24112) 1
HZD4944-12 M12 X 1.25 1] [XZB05S 5/16-24 1
HZD3023-12 M12-1.0 1] [XZB06S 3/8-24 1
HZD2087-14 M14 X 2.0 1| [|XZB06U 3/8-16 (24117) 1
HZD4976-14 M14 X 1.5 1] [XZB06P 3/8-18 NPT 1 1/4AF PIPE THR 1
HZD3029-14 M14-1.25 1] [XZB08U 1/2-13 (24130) 1
HZD3030-14 M14-1.0 1] [XZB07S 7/16-20 1
HZD2087-16 M16 X 2.0 1] [XZB07U 7/16-14 (24123) 1
HZD3034-16 M16-1.5 1] [XZB08S 1/2-20 (24133) 1
HZD2087-18 M18 X 2.5 1| |XZB08P 1/2-14 NPT 1 7/16AF PIPE THR 1
HZD3036-18 M18-2.0 1] [XZB09U 9/16-12 1
HZD3037-18 M18-1.5 1] [XZB09S 9/16-18 1
#377 HEX RETHREADING BOLT DIE XZB10U 5/8-11 (24141) 1
XZB10S 5/8-18 (24144) 1
(cont.) XZB11U 11/16-11 1 7/16AF PIPE THRE 1
Part number Description XZB11S 11/16-16 1 7/16AF 1
XZB16S 1-14 1] [XZB12S 3/4-16 (24153) 1
XZB16P 111-1/2 2 13/16AF PIPE THRH 1 [XZB12P 3/4-14 NPT 1 13/16AF PIPE TH 1
XZB18U 1 1/8-7 (24170) 1 [XZB12U 3/4-10 (24149) 1
XZB18S 11/8-12 1 [XZB14U 7/8-9 (24156) 1
XZB20U 1 1/4-7 (24176) 1 [XZB14S 7/8-14 1




XZB20S 11/4-12 1] [XZB16U 1-8 (24162) 1
XZB22U 1 3/8-6 (24182) 1| |XZB16SS 1-12 1
XZB22S 13/8-12 11 1INCH HEX OD SOLID CARBON DIE
XZB24U 11/2-6 (24187) 1
XZB24S 11/2-12 1] (cont.)
Part number Description
YDB12C M12-1.75 1
I INCH HEX OD SOLID CARBON DIE YDB12F M12-1.5 1
YDB12EF M12-1.25 1
Part number Description Pack
YDB66U 6/32 1| 113/16 HEX SOLID CARBON DIE
YDB88U 8/32 1
YDBO3U 10/24 1
'YDB03S 10/32 1 Part number Description Pack
YDB21UX 12/24 1 |YDB16U 1-8 1
'YDB04U 1/4-20 1 |YDB16S 1-14 1
YDB04S 1/4-28 1
YDBO5U 5/16-18 1
YDB05S 5/16-24 11 15/8 HEX OD SOLID CARBON DIE
YDB06U 3/8-16 1
YDB06S 3/8-24 1
YDBO7U 7/16-14 1 Part number Description Pack
YDBO07S 7/16-20 1] |YDB14U 7/8-9 1
YDB0O8U 1/2-13 1| [|YDB14S 7/8-14 1
YDB08S 1/2-20 1
YDB02 1/8 NPT 1
YDB04 1/4 NPT 1] 17/16 HEX OD SOLID CARBON DIE Ve >
YDB3C M3-0.5 1 @
YDB4C M4-0.7 1 ==
YDB5C M5-0.8 1 Part number Description Pack
'YDB6C M6-1.0 1] [YDBO9U 9/16-12 1
YDB7C M7-1.0 1| [YDBO09S 17/ 1
YDB8C M8-1.25 1 [YDB10U 5/8-11 1
'YDBS8F M8-1.0 1 [YDB10S 5/8-18 1
YDB10C M10-1.5 1 [YDB12U 3/4-10 1
YDB10F M10-1.25 1 [YDB12S 3/4-16 1
'YDB10EF M10-1.0 1
#377 HEX METRIC RETHREADING ——
CARBON DIE @J” #377 HEX METRIC RETHREADING >
(cont.) = CARBON DIE @
Part number Description Pack |
'YNB12EF M12 X 1.25 1 Part number Description Pack
YNB14C M14 X 2.0 11 [|YNB6C M6 X 1 (24221) 1
YNB14F M14 X 1.5 1 [|YNBSC M8 X 1.25 (24227) 1
'YNB14EF M14-1.25 1 1/16 AF 1 [YNBSF M8-1.0 1
YNB16C M16 X2 (24235) 1] [YNB10C M10 X 1.5 (24229) 1
YNB16F M16-1.50 1 [|YNB10F M10 X 1.25 1




'YNB18C M18-2.5 17/16 AF 1 |YNB12C M12 X 1.75 (24231)

YNB18F M18-1.5 1 7/16 AF 11 TAP/DIE SETS HIGH SPEED OR CARBON

'YNB18EF M18-1.0 17/16 AF 1

'YNB20C M20 X 2.5 1

'YNB22C M22-1.5 1 5/8 AF 1 Part number Description

'YNB24C M24 X 3 1 BKZ37HISPD 38 PC #4/1/2 NC/NF 1

'YNB30C M30-3.5 2 3/16 AF 1 BKZ37MET 37PC M3-12 CARB MET 1
BKZ64CARB 64 PC #4/ 1 NC/NF 1
BKZ14NCCARB 14PC USS & 1/8-27 1

HEXAGON CARBON STEEL RETHREADING DIE BKZ24HISPD 24PC1/4-1/2 C&F CARB 1

Part number Description Pack 328-329 T HANDLE

YEBO2P 1/8-27 NPT 1] HAND TAP WRENCHES

'YEB04U 1/4-20 1

YEB04S 1/4-28 1 Part number Description Pack
'YEBO5U 5/16-18 1 YFBJT20 0-1/4 STD SLIP HNDL 1
YEB05S 5/16-24 1 YFBJT30 #12-5/16 STD SLIP 1
YEBO6U 3/8-16 1 YFBJT40 1/4-1/2 STD SLIP 1
YEB06S 3/8-24 1 YFB0328R 1/16-1/4 rachet GRNFLD 1
'YEBO7U 7/16-14 1 [YFB0332R 7/32-1/2 SLIP HNDL GRNFLD 1
YEBO7S 7/16-20 1 YFB0338H 1/16-1/4 RACHET/SLIP GNFLD 1
'YEBO8U 1/2-13 1 YFB0339H 7/32-1/2RACHET/SLIP GRNFLI 1
'YEB08S 1/2-20 1

'YEBO9U 9/16-12 1

YEB09S 9/16-18 1

'YEB10U 5/8-11 1

'YEB10S 5/8-18 1

'YEB12U 3/4-10 1

YEB12S 3/4-16 1

YEB14U 7/8-9 1

YEB14S 7/8-14 1

'YEB16U 1-8 1

YEB16S 1-14 1




